NET

N.B.: 1. Question No. 1 compulso
2. Attempt any Three out of
3. Figures to the right indica

4. Draw neat diagram wherever necessary.

1. Solve any four out of five
A) What are the design metrics of an embedded systemsﬂ,
B) Discuss working of stepper motor.
C) Explain different types of kernals. : gl
D) Explain in brief Assembler Directives with respeet lo 8051- AsSembler
E) Listimportant features of ARM archltecture =

2. A)Describe priority inversion problem and axplain\tibwwme;owa it

B) Explain various addre:

3. A) Assuming crystal freq

8051 to generate square wave ofg Kﬁ‘z atqu 8

(Use Timer-0, Mode-0)

4. A)Write an assemb!y lan

8051 micro controller

A) List discuss d&ffererﬁ feature
B) Draw and E’xglam miermpt%trueﬁlre“qf‘hﬂﬁ

P (Embeddedsysi&gn con
B) “ARM danelopmsmtodg P
o’ 0

Time: 3 Hours

ry.
remaining Five questions.
te full marks.

ssing modes of 865 \mlcrdwwﬁo@

uency = 11. 0592\ fH: v\'mltgah

amrésu;mmna\aﬁd aspbéreyp alon
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Paper / Subject Code: 32402 / Internet Programming SIS
/ INFT / Sem ~aF / QHaoflCE I%&S‘ED/ r\ttw STty

(3 hours)
NOTE: 1. Question No 1 is compulsory
2. Attempt any three questions from remaining.
3. Assume suitable data if necessary and state the same.

Q1. Answer following.

black.
b. Explain Geo Location API with example usage.
c. What are characteristics of Rich Internet Application?:
d. Differentiate between REST and SOAP. ;

€y

Q2.
a. What is AJAX ? Explain steps required to: prﬁqess ‘7

b. Explain various cross browser companbﬁ’

existing table gmp %detalls 'Vmg appropnét\e\sghemdandacknowledges the user through

approgn"ate mes%age abbut ﬁuceess or failure during data insertion. Assume suitable user name and
£ o { \
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TNET / Paper / Subject Code: 32403 / Advanced Data Management Technology
Som- N . CHofeL BASeD / Nov. &018

[Time: Three Hours] Wi [Marks“sﬁ} N
N.B: (1) Question No.1 is compulsory s s e P B B
(2) Attempt any three of remaining five questlons . 4
(3) Assume any suitable data if necessary and Justlfy the szm‘l N

Q1 a) Explain Brute-Force Nested Loop Join algonthm

b)  What is dead lock, explain wait and die schemc used for; deadlock preventxon
¢)  What is Temporal Database? What are its chm*actanstlcs'? S

d)  Explain roll-up, drill down, slice, dlcc opéf(anons in OLAP

: L fra, g
CRETIRLV RV S

Q2 a) Explain basic time stamp ordermg protocol ancT compare\___ ~thh 2 phase

locking protocol in terms of deadlbck aqd rollbacks

..(

b) Explain Mandatory Access Con\frol and D:scrahona:‘y Access Comrol also

explain access control Ilst and ﬁécess control entry W.I. t the same,; L
Q3 a) Why fragmenlatlon is: reqmred in dlstnbuted data bases Explam VemCal
fragmentation w1th example comment nn comp]eteness reconslructlon and
dxs_;omtness aspect of it. RS . 3¢ Fa .""I't‘m:- 10
b) 10
Q4 a) Explam MQLAP ROLAP and'HOLAP Models : 10
b) What is the sxgmﬁcance of seriahzablhty, explam conflict serializability and
view senahzabxhty wnh the help of example =
Q5  .a) '_-\Explam types of data extrachoq nﬁelhods in ETL process 10
T h) What is basm d1fference between pessnmstlc and optimistic concurrency control
; algomhm Explam dxstnbuxed_ZPL algorithm. 10
S Wnte short notcs on (any two) 20

a Role Based Access Control
‘ b. Query Opnmxzanon
< < DaiaWarehouse Architecture
d Chalienges in ETL functions

3 e sk o ke e ok ok ok o ok e ok o ok ok ak ok ok ok oK oK o
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Sem =\ . CHOT £ BF\QED/NQ\I a@\%

Time (3 Hours)

NB

- Question No. 1 is Compulsory. ‘
2 Solve any THREE from Question No. 2 to 6. 3 "‘-‘ o
3. Draw neat well labeled diagram wherever necessary P ;

Q.1 a) Enlist security goals. Discuss their mguﬁca@nce\
Compare and contrast HMAC and GMAC POFE

¢)  SHA provides better security thaﬂ MD ’Jusﬁfy FE L
Design Sample Digital Certlf' caIQ and explmn bach ﬁ'eld of m :

\sw"f

u‘,

Q.2a) Explain Transposition ClQhel‘S;WIﬂJ Hlusﬁahvgexamples

b)  Given modulus n=91 aail public. Rey =5, find the’ values. of '
and d using RSA. Encrypt M 2s~ Also pe:fénn decrypuon 3

Q.3 a) What are Block G:phe; Modes,
b)  Using Affine clpher encryptthe

(5.2).

Q.4 a) Given gqnexatot g- 2« amf n=}1 ‘:Us:ng D{ff' é Helhnan algonthm solve the
followmg e N
1. Show: that21s pnmxt‘vamo;oflr
VA s public key is 9., ; what is A’s pnvata key?
- 3 IfB’s. public¢ key is (3 whiatis B’s. yr:vam lcey‘?
4' Caictﬂat&the shqmd-secratkey

r

Desbqbe any two'm detaxl
Plamtext ‘SECURITY w:th key pair

*#‘tt##*#*t***t*****,

86A0798576FOEC29F. 86CCD3F43958D95

TNFET / Paper / Subject Code: 32404 / Cryptography & Network Secunty
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# Subject Code: 32405 / Elective - I Advance Data Structures & Analysis of Algorlthms(DLOC} S £
INET / Sem-~N - choice Qased I Nov - m‘é i

(3 Hours) 5
N.B.: (1) Question No.1 is compulsory. " “
(2) Attempt any three out of remaining questions. 5
(3) Assume Suitable data if necessary. :
(4) Figures to the right indicate full marks. > ‘_' :
Ql. (8  Explain with example how divide and ki

Search?

(b)  Explain flow shop schedulmgtéchmcme" o S s A 5

() Write a note on AVL Tree T P R & o . T 5

(d)  Write an algorithm for finding minimuim and maximym number from . 5
given set. Sl E L LR I Pt

Q2. (a) What is longest cbﬁihidn“subséqﬁéz;c'f‘: prob\l-e‘m? Find LCS for failowing 10
string.
X=ACBAED
Y=ABCARBE

(b)  Which are the different methods of solving recurrences? Explain with 10
examples.

(a) Compare Greedy and Dynamic Programming approach for an algorithm 10
design. Explain how both can be used to solve knapsack problem.

(b)  Explain Huffman algorithm. Construct Huffman tree for 10
MAHARASHTRA with its optimal code.

(a) Explain Job sequencing with deadlines, 10
Let n=4,(p1,p2,p3,p4)=(100,10,15,27) and (d1,d2,d3,d4)=(2,1,2,1).Find
feasible solution.

(b)  Sort the following numbers using quick sort. Also derive time 10
complexity of quick sort.

27103618 2545
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Paper / Subject Code: 32405 / Elective - I Advance Data Structures & Analysis of Algonthms (DLOC

Q5. (a Applyall pair shortest path on the following graph 10 3
(b) Given a chain of four matrices A1, A2, Asand A4 with Po=5, P1=4, P2=6, 10
Ps=2 and P+=7. Find m[1,4] using matrix chain multiplication
Q6. Write Note on (Any two) 20

i, Rabin Karp Algorithm.

ii.  Topological Sort.
lii. Knuth-Morrie-Pratt al gorithm.
iv.  Red-Black Tree.

**:**ﬁ*f****** o
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T / Paper / Subject Code: 32407 / Elective - I E-Commerce & E-Business (DLOC) / NOVAaIE
o Qern - M- choico Q;cu&eob S

Time : 03 hrs. - Marks : 80

Note : Question Ne 1 is compulsory.
Attempt any 3 questions from remaining.
Assume suitable data whenever necessary.

Q1. You are appointed as developer of e-commerce wcbsxtefor Onhne Education

Portal. Design and develop website to promote the same. ... _ 2 20
) Q2 A) Define e commerce and explain its diiﬁerent\i_t'jipes 7i:vit;h' exampleé;."" ' ; S . - 10
B) Explain E commerce Trade cycle with é#am‘pléi et ' 10
0 Q3 A) Explain various session mqnzigemgﬁt teéﬁhiqueé in e- crorim‘lerce‘. 3 ) x 10
B) Write short note on middié.wéie technologies. P e 10
Q4 A) Explain security aspe':c’ts of EﬁOMﬁé_f@é, % S ey 10
B) Discuss SET protc_r'cbl, ér_chitccturg wzth dmgram % 10
Q5 A) Explain charaeteristics of f;itefhéf Payment System. 10
B) What is valuie-chain process in E-commerce? Discuss with diagram. 10
Q6 A) Explain critical elements of E-business. 10
_ B) Write short note on EDL. ' 10
57971 i Pagelof1
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